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There are 20 apples, if 10 apples are put into a
group, how many groups can be divided ?
20 + \D =, 2
) groups can be divided.

0 ! 3
Remainder: Applesareints

There are 42 oranges, if 10 oranges are put into

a group, how many groups can be divided ?

by + \D = L]
__ L. groups can be divided.
__~_ oranges are left.
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There are 57 apples, if 21 apples are put into a group,
how many groups can be divided?

Remainder:

There are 55 apples, if 25 apples are put into a group,

how many groups can be divided?
=

Remainder:

There are 84 apples, if 23 apples are put into a group,
how many groups can be divided?

Remainder:
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groups can be divided.
apples are left.

groups can be divided.
apples are left.
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groups can be divided.
apples are left.
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